MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFB NO. / TITLE	22-TA004303JH / Pavement Marking Installation and Maintenance	DATE POSTED	MC	DS
PROCUREMENT REPRESENTATIVE	Jeb Hayter, Procurement Agent	PROJECTED AWARD DATE	January 31, 2023	
DEPARTMENT/DIVISION	Public Works / Traffic Operations Division	AUTHORIZED BY DATE	Jacob Erickson, Pu	rchasing Official

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract with Emerald Coast Striping, LLC, McShea Contracting, LLC, Oglesby Construction, Inc., for the provision of pavement marking installation and maintenance.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/EVALUATION

The scope of work consists of providing materials and services to install and remove thermoplastic and painted traffic markings, permanent tape, preformed markings, raised retro-reflective pavement markers and related devices and materials. Services include all materials, labor, equipment, and traffic control for work on roadways, bridges, and parking areas.

The solicitation was advertised on September 16, 2022 on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce, the Manasota Black Chamber of Commerce, Gulf Coast Builders Exchange and Gulf Coast Latin Chamber of Commerce for release to their members. Responses were received from the following firms:

- 1. Acme Barricades, L.C., Jacksonville, FL
- 2. Emerald Coast Striping, LLC, Panama City, FL
- 3. McShea Contracting, LLC, Lehigh Acres, FL
- 4. Oglesby Construction, Inc., Sanford, FL
- 5. Traffic Control Products of Florida, Inc., Tampa, FL

EVALUATION SUMMARY:

Emerald Coast Striping, LLC, McShea Contracting, LLC, Oglesby Construction, Inc., were the lowest responsible, responsive bidder(s). A bid tabulation of the results is attached to this Notice of Intent to Award.

RECOMMENDATION

The Procurement Division and the Public Works / Traffic Operations Division recommend award to Emerald Coast Striping, LLC, McShea Contracting, LLC, Oglesby Construction, Inc.

ATTACHMENTS	Bid Tabulation	COST	As Needed Basis
(List in order of attached)			

BID TABULATION SUMMARY IFB NO. 22-TA004303JH PAVEMENT MARKING INSTALLATION AND MAINTENANCE

					Traffic Control Products of
Pavement Marking Installation and Maintenace	Emerald Coast Striping, LLC	McShea Contracting, LLC	Oglesby Construction, Inc.	Acme Barricades, L.C.	Florida, Inc.
Bid Total	\$635,051.00	\$437,573.60	\$586,023.75	\$25,520,410.10	\$10,419,876.85

BID TABULATION IFB NO, 22-TA004303JH PAVEMENT MARKING INSTALLATION AND MAINTENANCE				Emerald Coast	Emerald Coast Striping, LLC McShea Contracti			octing, LLC Oglesby Construction, Inc.			cades, L.C.	Traffic Control Products of Florida, Inc.		
Item No.	Description	FDOT Pay Item No.	UOM	EST Qty Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	GROUP 1 Thermoplastic Pavement Markings (Alkvd) LINES													
1	Thermoplastic, Standard, White, Solid, 6"	711-11-121	LF	84,000	\$1.00	\$84,000.00	\$0.78	\$65,520.00	\$1.35	\$113,400.00	\$0.90	\$75,600.00	\$1.02	\$85,680.00
2	Thermoplastic, Standard, White, Solid, 6" (Parking Lot)	711-11-121- 1	LF	800	\$3.50	\$2,800.00	\$1.95	\$1,560.00	\$3.00	\$2,400.00	\$2.00	\$1,600.00	\$2.00	\$1,600.00
3	Thermoplastic, Standard, White, Solid, 8"	711-11-122	LF	500	\$1.50	\$750.00	\$2.50	\$1,250.00	\$3.00	\$1,500.00	\$1.50	\$750.00	\$1.59	\$795.00
4	Thermoplastic, Standard, White, Solid, 12"	711-11-123	LF	6,500	\$4.00	\$26,000.00	\$3.80	\$24,700.00	\$5.00	\$32,500.00	\$4.00	\$26,000.00	\$3.50	\$22,750.00
5	Thermoplastic, Standard, White, Solid, 18"	711-11-124	LF	2,000	\$5.00	\$10,000.00	\$5.70	\$11,400.00	\$5.50	\$11,000.00	\$6.00	\$12,000.00	\$4.00	\$8,000.00
6	Thermoplastic, Standard, White, Solid, 24"	711-11-125	LF	3,000	\$5.00	\$15,000.00	\$7.60	\$22,800.00	\$6.00	\$18,000.00	\$7.00	\$21,000.00	\$5.00	\$15,000.00
7	Thermoplastic, Standard, White (10'-30' Skip/Dotted) 6"	711-11-131	GM	5	\$2,500.00	\$12,500.00	\$1,015.00	\$5,075.00	\$2,200.00	\$11,000.00	\$2,000.00	\$10,000.00	\$1,795.00	\$8,975.00
8	Thermoplastic, Standard, White (2'-4' Dotted Guideline/6-10 Gap	711-11-141	LF	1,000	\$1.00	\$1,000.00	\$0.78	\$780.00	\$1.50	\$1,500.00	\$0.75	\$750.00	\$0.65	\$650.00
9	Thermoplastic, Standard, Yellow, Solid, 6"	711-11-221	LF	84,000	\$1.00	\$84,000.00	\$0.78	\$65,520.00	\$1.35	\$113,400.00	\$0.90	\$75,600.00	\$1.02	\$85,680.00
10	Thermoplastic, Standard, Yellow, Solid, 18"	711-11-224	LF	1,000	\$5.00	\$5,000.00	\$5.70	\$5,700.00	\$5.50	\$5,500.00	\$6.00	\$6,000.00	\$4.00	\$4,000.00
11	Thermoplastic, Standard, Yellow, (10'-30' Skip/Dotted) 6"	711-11-231	GM	5	\$2,500.00	\$12,500.00	\$1,015.00	\$5,075.00	\$2,200.00	\$11,000.00	\$2,000.00	\$10,000.00	\$1,795.00	\$8,975.00
12	Thermoplastic, Standard, Yellow, (2'-2' Skip) 6"	711-11-241- 1	LF	500	\$1.00	\$500.00	\$0.78	\$390.00	\$1.50	\$750.00	\$0.75	\$375.00	\$0.75	\$375.00
13	Thermoplastic, Standard, Yellow, (2'-4' Dotted Guideline/6-10 Gap Extension) 6"	711-11-241- 2	LF	1,000	\$1.00	\$1,000.00	\$0.78	\$780.00	\$1.50	\$1,500.00	\$0.90	\$900.00	\$0.65	\$650.00
14	Thermoplastic, Standard, Blue, Solid, 6" (Parking Lot)	711-11-421	LF	100	\$20.00	\$2,000.00	\$2.80	\$280.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$5.25	\$525.00
	MESSAGES													
15	Thermoplastic, Standard, White, Message, (RXR)	711-11-161	EA	5	\$250.00	\$1,250.00	\$338.00	\$1,690.00	\$200.00	\$1,000.00	\$175.00	\$875.00	\$2.25	\$11.25
16	Thermoplastic, Standard, White, Message, (Only and Stop)	711-11-162	EA	15	\$250.00	\$3,750.00	\$85.00	\$1,275.00	\$125.00	\$1,875.00	\$150.00	\$2,250.00	\$184.00	\$2,760.00
17	Thermoplastic, Standard, White, Message, (Merge)	711-11-164	EA	5	\$250.00	\$1,250.00	\$130.00	\$650.00	\$175.00	\$875.00	\$175.00	\$875.00	\$194.00	\$970.00
18	Thermoplastic, Standard, White, Message, (School)	711-11-165	EA	5	\$350.00	\$1,750.00	\$125.00	\$625.00	\$200.00	\$1,000.00	\$175.00	\$875.00	\$254.00	\$1,270.00
19	Thermoplastic, Standard, White, Message, (Bike Lane Symbol)	711-11-166	EA	100	\$1.00	\$100.00	\$75.00	\$7,500.00	\$25.00	\$2,500.00	\$200.00	\$20,000.00	\$185.00	\$18,500.00
20	Thermoplastic, Standard, White, Message, (Ped and Xing)	711-11-167	EA	3	\$250.00	\$750.00	\$85.00	\$255.00	\$150.00	\$450.00	\$200.00	\$600.00	\$174.00	\$522.00
21	Thermoplastic, Standard, White, Message, (Shared Lane Marking)	711-11-168	EA	50	\$250.00	\$12,500.00	\$100.00	\$5,000.00	\$40.00	\$2,000.00	\$300.00	\$15,000.00	\$275.00	\$13,750.00
22	Thermoplastic, Standard, White, Message, (Undefined ≤ 6 Letters)	711-11-169	EA	15	\$250.00	\$3,750.00	\$112.00	\$1,680.00	\$150.00	\$2,250.00	\$200.00	\$3,000.00	\$254.00	\$3,810.00
23	Thermoplastic, Standard, Blue, Message, (Handicap Symbol), (Parking Lot)	711-11-460	EA	5	\$200.00	\$1,000.00	\$75.00	\$375.00	\$150.00	\$750.00	\$300.00	\$1,500.00	\$225.00	\$1,125.00
24	Route Shield 72 SF (For Arterials and Collectors)	711-1A- BCD 711-1A-	SF	5	\$50.00	\$250.00	\$25.00	\$125.00	\$2,500.00	\$12,500.00	\$75.00	\$375.00	\$1,750.00	\$8,750.00
25	Route Shield 128 SF (For Limited Access Roadways)	BCD	SF	5	\$50.00	\$250.00	\$25.00	\$125.00	\$3,000.00	\$15,000.00	\$75.00	\$375.00	\$2,350.00	\$11,750.00
	ARROWS	711-11-170-												
26	Thermoplastic, Standard, White, Arrow (Left or Right Turn)	711-11-170-	EA	30	\$150.00	\$4,500.00	\$75.00	\$2,250.00	\$130.00	\$3,900.00	\$90.00	\$2,700.00	\$69.00	\$2,070.00
27	Thermoplastic, Standard, White, Arrow (Straight)	2 711-11-170-	EA	40	\$150.00	\$6,000.00	\$60.00	\$2,400.00	\$60.00	\$2,400.00	\$100.00	\$4,000.00	\$63.00	\$2,520.00
28	Thermoplastic, Standard, White, Arrow (Merge)	3 711-11-170-	EA	10	\$150.00	\$1,500.00	\$60.00	\$600.00	\$70.00	\$700.00	\$100.00	\$1,000.00	\$66.00	\$660.00
29	Thermoplastic, Standard, White, Arrow (Turn and Through)	4 711-11-170-	EA	50	\$150.00	\$7,500.00	\$110.00	\$5,500.00	\$110.00	\$5,500.00	\$140.00	\$7,000.00	\$119.00	\$5,950.00
30	Thermoplastic, Standard, White, Arrow (Bike Lane)	5 711-11-170-	EA EA	100	\$150.00 \$250.00	\$15,000.00 \$1,250.00	\$40.00 \$92.00	\$4,000.00	\$25.00 \$75.00	\$2,500.00 \$375.00	\$100.00 \$125.00	\$10,000.00 \$625.00	\$63.00 \$96.00	\$6,300.00
31	Thermoplastic, Standard, White, Arrow (Wrong Way for Ramps)	6	EA	3	\$250.00	\$1,250.00	\$92.00	\$460.00	\$75.00	\$375.00	\$125.00	\$625.00	\$96.00	\$480.00
	OTHER SURFACES													
32	Thermoplastic, Standard-Other Surfaces, White, Solid, 6" Thermoplastic, Standard-Other Surfaces, White, Skip, (10-30 Skip or 3-9)	711-16-101	GM GM	1	\$6,500.00 \$3,500.00	\$6,500.00 \$3,500.00	\$4,055.00 \$1.015.00	\$4,055.00 \$1,015.00	\$6,600.00 \$2,000.00	\$6,600.00	\$5,000.00 \$2,200.00	\$5,000.00 \$2,200.00	\$5,995.00 \$1.895.00	\$5,995.00 \$1,895.00
33	Lane Drop), 6" Thermoplastic, Standard-Other Surfaces, Yellow, Solid, 6"	711-16-131	GM	1	\$3,500.00	\$3,500.00	\$1,015.00	\$1,015.00	\$2,000.00	\$2,000.00	\$2,200.00 \$5,000.00	\$2,200.00	\$1,895.00	\$1,895.00
35	Thermoplastic, Standard-Other Surfaces, 1 enow, 50nd, 6 Thermoplastic, Standard-Other Surfaces, Yellow, Skip, 6"	711-16-201	GM	1	\$3,500.00	\$3,500.00	\$1,015.00	\$1,015.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$1,895.00	\$1,895.00
33	GROUP 2: Thermoplastic Preformed Pavement Markings (Non-	/11-10-231	GM	1	\$3,300.00	\$3,300.00	\$1,013.00	\$1,013.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$1,893.00	\$1,893.00
	Skid)													
36	Thermoplastic, Preformed, Non-Skid Premark Vizi-Grip Surface (or equal) 90 MIL (Bicycle with Rider & Helmet (L or R Facing), 6'6" x	711-14-170	EA	25	\$250.00	\$6,250.00	\$220.00	\$5,500.00	\$200.00	\$5,000.00	\$200.00	\$5,000.00	\$195.00	\$4,875.00
37	Thermoplastic, Preformed, Non-Skid Premark Vizi-Grip Surface (or equal) 90 MIL (Bike Lane Straight Arrow), 6'	711-14-170-	EA	20	\$200.00	\$4,000.00	\$100.00	\$2,000.00	\$125.00	\$2,500.00	\$100.00	\$2,000.00	\$90.00	\$1,800.00
38	Thermoplastic, Preformed, Non-Skid Premark Vizi-Grip Surface (or equal) 90 MIL (Bike Lane Turn Arrow L/R) 5'6" x 4'2"	711-14-170-	EA	20	\$150.00	\$3,000.00	\$150.00	\$3,000.00	\$20.00	\$400.00	\$100.00	\$2,000.00	\$99.00	\$1,980.00
39	Thermoplastic, Preformed, Roundabout Approach Lane Use Normal	920-711-A	SF	10	\$150.00	\$1,500.00	\$10.00	\$100.00	\$50.00	\$500.00	\$400.00	\$4,000.00	\$504.00	\$5,040.00
40	Arrow Thermoplastic, Preformed, Roundabout Approach Lane Use Fish-hook Arrow	920-711-A	SF	20	\$300.00	\$6,000.00	\$10.00	\$200.00	\$50.00	\$1,000.00	\$400.00	\$8,000.00	\$524.00	\$10,480.00
41	Speed Hump Markings 6 ft.	920-711-A	SF	20	\$100.00	\$2,000.00	\$10.00	\$200.00	\$50.00	\$1,000.00	\$5.00	\$100.00	\$205.00	\$4,100.00
42	Speed Hump Markings 12 ft.	920-711-A	SF	20	\$100.00	\$2,000.00	\$10.00	\$200.00	\$50.00	\$1,000.00	\$5.00	\$100.00	\$310.00	\$6,200.00
43	Yield Line	711-11-180	LF	4	\$50.00	\$200.00	\$25.00	\$100.00	\$25.00	\$100.00	\$10.00	\$40.00	\$20.00	\$80.00

				1										
	GROUP 3: Painted Pavement Markings (Waterborne Paint with													
	Glass Spheres)													
	LINES										***			
44	Painted Pavement Markings, Standard, White, Solid, 6" Painted Pavement Markings, Standard, White, Solid, (Interchange &	710-11-101	LF	8,000	\$0.50	\$4,000.00	\$0.30	\$2,400.00	\$0.50	\$4,000.00	\$0.25	\$2,000.00	\$0.30	\$2,400.00
45	Urban Island), 8" Painted Pavement Markings, Standard, White, Solid, (Crosswalk &	710-11-102	LF	10	\$1.00	\$10.00	\$0.50	\$5.00	\$1.00	\$10.00	\$0.50	\$5.00	\$0.54	\$5.40
46	Painted Favement Markings, Standard, White, Solid, (Crosswark & Painted Pavement Markings, Standard, White, Solid, (Diagonal or	710-11-123	LF	500	\$3.00	\$1,500.00	\$2.00	\$1,000.00	\$1.50	\$750.00	\$1.50	\$750.00	\$0.97	\$485.00
47	Chevron) 18"	710-11-124	LF	100	\$4.00	\$400.00	\$2.10	\$210.00	\$1.75	\$175.00	\$2.00	\$200.00	\$1.65	\$165.00
48	Painted Pavement Markings, Standard, White, Solid, (Stop Line or Crosswalk) 24"	710-11-125	LF	5,000	\$5.00	\$25,000.00	\$2.25	\$11,250.00	\$3.00	\$15,000.00	\$2.00	\$10,000.00	\$2.11	\$10,550.00
49	Painted Pavement Markings, Standard, White, Skip, (10-30 or 3-9 Skip) 6"	710-11-131	LF	2,500	\$0.25	\$625.00	\$0.30	\$750.00	\$0.50	\$1,250.00	\$0.30	\$750.00	\$0.20	\$500.00
50	Painted Pavement Markings, Standard, White, (2-4 Dotted Guideline/ 6- 10 Dotted Extension) 6"	710-11-141	LF	1,000	\$0.25	\$250.00	\$0.30	\$300.00	\$0.50	\$500.00	\$0.30	\$300.00	\$0.39	\$390.00
	MESSAGES													
51	Painted Pavement Markings, Standard, White, Message (RXR)	710-11-160- 1	EA	2	\$75.00	\$150.00	\$360.00	\$720.00	\$125.00	\$250.00	\$85.00	\$170.00	\$129.00	\$258.00
2	Painted Pavement Markings, Standard, White, Message (Only or Stop)	710-11-160- 2	EA	50	\$75.00	\$3,750.00	\$60.00	\$3,000.00	\$75.00	\$3,750.00	\$85.00	\$4,250.00	\$49.00	\$2,450.00
53	Painted Pavement Markings, Standard, White, Message (Merge)	710-11-160- 3	EA	5	\$75.00	\$375.00	\$60.00	\$300.00	\$95.00	\$475.00	\$85.00	\$425.00	\$64.00	\$320.00
54	Painted Pavement Markings, Standard, White, Message (School)	710-11-160- 4	EA	10	\$75.00	\$750.00	\$60.00	\$600.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$84.00	\$840.00
55	Painted Pavement Markings, Standard, White, Message (Undefined, ≤ 6 Letters)	710-11-160- 5	EA	20	\$75.00	\$1,500.00	\$60.00	\$1,200.00	\$75.00	\$1,500.00	\$25.00	\$500.00	\$89.00	\$1,780.00
56	Painted Pavement Markings, Standard, White, Symbol (Bike Man)	710-11-160-	EA	200	\$75.00	\$15,000.00	\$60.00	\$12,000.00	\$50.00	\$10,000.00	\$50.00	\$10,000.00	\$59.00	\$11,800.00
57	Painted Pavement Markings, Standard, Yellow, Solid, 6"	710-11-201	LF	7,200	\$0.50	\$3,600.00	\$0.30	\$2,160.00	\$0.50	\$3,600.00	\$0.25	\$1,800.00	\$0.30	\$2,160.00
58	Painted Pavement Markings, Standard, Yellow, Solid, (Diagonal or Chevron) 18"	710-11-224	LF	85	\$4.00	\$340.00	\$2.10	\$178.50	\$1.75	\$148.75	\$2.00	\$170.00	\$1.65	\$140.25
59	Painted Pavement Markings, Standard, Yellow, Skip, 6"	710-11-231	LF	50,000	\$0.25	\$12,500.00	\$0.30	\$15,000.00	\$0.05	\$2,500.00	\$0.30	\$15,000.00	\$0.14	\$7,000.00
60	Painted Pavement Markings, Standard, Yellow, (2-4 Dotted Guideline / 6-10 Dotted Extension) 6"	710-11-241	LF	1,000	\$0.25	\$250.00	\$0.30	\$300.00	\$0.50	\$500.00	\$0.30	\$300.00	\$0.39	\$390.00
	ARROWS													
61	Painted Pavement Markings, Standard, White, Arrows (Left / Right	710-11-171	EA	20	\$50.00	\$1,000.00	\$50.00	\$1,000.00	\$45.00	\$900.00	\$35.00	\$700.00	\$29.00	\$580.00
62	Turn) Painted Pavement Markings, Standard, White, Arrows (Straight)	710-11-172	EA	20	\$50.00	\$1,000.00	\$50.00	\$1,000.00	\$35.00	\$700.00	\$40.00	\$800.00	\$24.00	\$480.00
63	Painted Pavement Markings, Standard, White, Arrows (Merge)	710-11-173	EA	10	\$50.00	\$500.00	\$50.00	\$500.00	\$45.00	\$450.00	\$40.00	\$400.00	\$32.00	\$320.00
64	Painted Pavement Markings, Standard, White, Arrows (Bike Lane)	710-11-174	EA	200	\$50.00	\$10,000.00	\$50.00	\$10,000.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$24.00	\$4,800.00
	GROUP 4: Permanent Tape Pavement Markings (High Performance)				-	***************************************		***************************************		- ,,			-	.,,
65	Permanent Tape, White or Yellow, 6" with 1½" Black Contrast Border	713-103-001	LF	100	\$20.00	\$2,000.00	\$9.00	\$900,00	\$12.00	\$1,200.00	\$20.00	\$2,000.00	\$9.75	\$975.00
66	for Concrete Bridges Removal & Surface Preparation	713-107	SF	100	\$50.00	\$5,000.00	\$2.50	\$250.00	\$20.00	\$2,000.00	\$5.00	\$500.00	\$3.50	\$350.00
00		/13-10/	эг	100	\$30.00	\$3,000.00	\$2.30	\$230.00	320.00	\$2,000.00	\$3.00	\$300.00	\$3.30	\$330.00
	GROUP 5: Raised Retro-Reflective Pavement Markers (RPM's) & Bituminous Adhesive													
	Retro-Reflective Pavement Marker, Class B, 4" x 4" Nominal, 2- Color													
67	Bi-Directional w/Two Reflective Faces (Any Color Combo) Retro-Reflective Pavement Marker, Class B, 4" x 4" Nominal, 1- Color	706-3-1	EA	2,500	\$5.00	\$12,500.00	\$3.50	\$8,750.00	\$4.50	\$11,250.00	\$5.00	\$12,500.00	\$3.89	\$9,725.00
68	Bi-Directional (Any Color)	706-3-2	EA	5,000	\$5.00	\$25,000.00	\$3.50	\$17,500.00	\$4.50	\$22,500.00	\$5.00	\$25,000.00	\$3.85	\$19,250.00
	GROUP 6: Other													
69	Removal of Existing Pavement Markings, Thermoplastic/Paint	711-17	SF	5,000	\$5.00	\$25,000.00	\$2.50	\$12,500.00	\$3.00	\$15,000.00	\$2.00	\$10,000.00	\$3.50	\$17,500.00
70	Mobilization Surcharge for Work Orders Valued ≤ \$10,000	0000	%	10,000	\$0.25	\$2,500.00	\$0.25	\$2,500.00	\$0.20	\$2,000.00	\$2,500.00	\$25,000,000.00	\$975.00	\$9,750,000.00
	GROUP 7: UNSPECIFIED SERVICES													
71	Labor (cost per technician per hour)		HR	1	\$200.00	\$200.00	\$40.00	\$40.00	\$75.00	\$75.00	\$75.00	\$75.00	\$40.95	\$40.95
72	Material (For additional materials. Markup not to exceed 10%)		EA	1	\$1.00	\$1.00	\$0.10	\$0.10	\$1,950.00	\$1,950.00	\$0.10	\$0.10	\$1,000.00	\$1,000.00
73	Equipment (Provide hourly use of specialty equipment)		HR	1	\$500.00	\$500.00	\$40.00	\$40.00	\$75.00	\$75.00	\$150.00	\$150.00	\$34.00	\$34.00
	GROUP 8: GREEN PAVEMENT MARKINGS													
74	Green Pavement Markings - Epoxy	920-711-A	SF	3,000	\$25.00	\$75,000.00	\$12.00	\$36,000.00	\$14.00	\$42,000.00	\$12.00	\$36,000.00	\$25.00	\$75,000.00
75	Green Pavement Markings - Preformed Panel	920-711-A	SF	1,120	\$25.00	\$28,000.00	\$12.00	\$13,440.00	\$17.00	\$19,040.00	\$20.00	\$22,400.00	\$25.00	\$28,000.00
76	Green Pavement Markings – Paint	920-711-A	SF	5,000	\$2.50	\$12,500.00	\$3.00	\$15,000.00	\$1.75	\$8,750.00	\$2.00	\$10,000.00	\$19.00	\$95,000.00
			Gra	and Total		\$635,051.00		\$437,573.60		\$586,023.75		\$25,520,410.10		\$10,419,876.85